Aftermarket Parts Report

Current information on Nordco Maintenance-of-Way machine parts and kits

N....

Service from the Ground Up®

Issue 22 October, 2010

Spare Parts Packages introduced for two more Nordco machines

Nordco has developed Spare Parts Packages for its Rail ‘

Crane and Nipper Clipper Maintenance-of-Way : |
Machines. The packages include critical and frequently '1_" _F ﬁj
ordered parts. Nordco has created 27 Spare Parts '”"’ —;D
Packages for most current production and many older i~
machines. You can select the entire package, or use the
list as a convenient reference when ordering parts. For a
complete, searchable list of Spare Parts Packages, visit
the Parts section at www.nordco.com. Or, contact

Nordco Parts at 1-800-647-1724.

Y
. R

Nordco Nipper Clipper
Fq' SPNCO1E Spare Parts Package

Nordco Rail Crane

Spare Parts Packages:
SPRCO01B Basic
SPRCO1E Expanded
SPRCO1F Fleet

Featured product: e
For a complete list of kits, go

Improved Workhead Plates, | toPartsatwwnordco.com
and click on Search for Repair

Guide Rod & Bushing and Uparade Kits.

Part numbers: 56120200 LEFT HAND OUTER WORKHEAD PLATE
56120201 LEFT HAND INNER WORKHEAD PLATE
56120202 RIGHT HAND OUTER WORKHEAD PLATE
56120203 RIGHT HAND INNER WORKHEAD PLATE
65630101 20” STAINLESS STEEL GUIDE ROD *
22034760 5.5 GUIDE ROD BUSHING

Can be

used with: CX Hammer; C-CX Conversion;
All Serial Numbers

What it does: Reduce downtime by increasing the life of the Guide
Rod. Workhead Plate depth has been increased and
reinforced to accept longer-lasting 5.5” Bushing and
20" Guide Rod.

Description: Right Hand and Left Hand Workhead Plates; 5.5”

Bronze Bushing; 20" Stainless Steel Guide Rod
* 65630102 Chrome Guide Rod also available.

From top: Close-up shows increased depth of Workhead Plate; Outer Workhead

Plate; Inner Workhead Plate; 20" Stainless Steel Guide Rod; 5.5” Bronze Bushing.

Nordco CX Hammer.

YN
il

Nordco Parts 1-800-647-1724 Parts_Sales@nordco.com

www.nordco.com



Nordco Aftermarket Parts Report

Parts in the spotlight...
Each month we highlight new and particularly useful parts

98411190 RIGHT HAND BOLT-ON 5/8 CUT SPIKE TRAY ASSEMBLY WITH CARBIDE INSERTS
98411191 LEFT HAND BOLT-ON 5/8 CUT SPIKE TRAY ASSEMBLY WITH CARBIDE INSERTS

The August edition of the Aftermarket Parts Report announced the
introduction of longer lasting Spike Trays and Tray Heads with
durable carbide tiles installed on wear surfaces. The carbide tiles
reduce machine downtime by extending the life of the Tray and Tray
Head. Nordco has now introduced complete Bolt-On Spike Tray
Assemblies with the carbide inserts. This makes it possible to
replace the entire Spike Tray Assembly in one step. Spike Tray
Assemblies include Tray, Tray Head Assembly, Bolt-on Guide,

Feed Cylinder and Pusher Block Assembly.

Bolt-on Spike Tray Assembly.

Featured product: 3
i LALHLY s
Dacromet Bolt Kit =, ITTNIVHTVERY
I i
Part number: 98410835 WWW W ‘ ||\| '||‘| %PIW' TINPVER
Can be | i q
used with: CX Hammer '
All serial numbers
What it does: Special anti-corrosion coating on valve mounting
bolts helps prevent them from seizing up in
tapped holes and potentially breaking when 98410835 Dacromet Bolt Kit.
manifold valves are replaced. One kit required
per machine. . . .
For more information on this
Description: Kit includes these quantities of the following items: kit, see Nordco Product
36 of 10-24 X 1.25 Coated Socket Head Capscrew Support Bulletin  2007-006.
24 of 10-24 X 2.75 Coated Socket Head Capscrew A complete, ~searchable
8 of 10-24 X 4.50 Coated Socket Head Capscrew !lbrary o PSBS is available
in the Technical Support
12 of M5 X 30mm Coated Socket Head Capscrew section at www.nordco.com.
100 of 2-012 90 Durometer O-Ring

Get machines ready for the new year with
Nordco parts and Kits recommendations

It's “winterization” time when MOW machinery is pulled into the shop for
maintenance and upgrading before the start of the new work season. Nordco
has released a new list of recommended repair and upgrade kits and parts for
the CX Hammer and TRIPP Tie Exchanger. For a printable copy, go to the
Parts page at www.nordco.com and click on “What's New in Nordco Parts.”

Contact Nordco Aftermarket Parts Sales & Service
Ph: 1-800-647-1724 7:30 a.m. - 5 p.m. Central Time Monday - Friday Fax: 414-766-2379 Email: Parts_Sales@nordco.com
Request an order or quotation: www.nordco.com  Nordco Inc. 245 W. Forest Hill Ave. Oak Creek, Wisconsin 53154 USA

© Nordco Inc. October, 2010



